2AV2aEEl 1068 ERY 158 5 - B8 FHFES B Al s nEn
RIS FL P %y RIS B En(FEALM)
iR S P R 50 ~ 48 PR TNREE
- REREF PN 3L §~ I unit5~unit8
- ~HEHFES A 0 2100 4)
2 -1 0
) LATHIE3 4 5|MIfEE (A7 (B)-18 (C)12 (D)-24 (E)%6
1 3 1
4x=5-y X+2y=3 2x—-3y=6
B2H » o] A5 —fE ?
2 Tl mERE-Re W e o o

2x—-3y=6 y+x=5
oy |
Xx-12y =9 3y+3x=1

) 3. THMAHEIERE? (A¥+3i>1+i B >i? Hifri=+-1 (O)Fa,b BEH

a+bi=0-Hla=0,b=0 (D)—3—4%4=3—4i (E) |2+ 5i|=|2 — 5i|

' Z1i x s yBEED Blxey= (A)-1 (B0 (O (DR

) 5. BRAEN x-2|<3HIE?  (A)-L1<x<5 (B)-5<r<l (Ox<-1Hx>5

Dx<-58ix>1

) 6. f () E—2TET ) ER(x - f(x) > 576 Okx) > 857 R > HIl

W)X o) +R  (B) ZELL 20— O £(x) » BIERTE 2R (C)R HIZEL < OGO

X—C
D) f(x) EFF » BIEGERS (1)
) T f(x)=x"+3¢ —2x* +ax+b A X’ +2x+3 Z[A > Hlla+b=(A)-32
(D)-35

i 2 A Bx+C 2 11 2
) 8 W =+ ABR (W)-3 B)-3 ©OF D)

)0 xslog ,guXuX_lz: (A)16 (B)62 (C)64 (D)66 (E)68

) 11. AGfE

€0Ss28°+isin28° 2

(cos48° +isin48°)(cos100°+isin100°) (A)§+%i (B)%—ﬁi

(B)-33  (C)-34

(C)—%+£i

2




(

(

(

(

(

) 12. &% a>0°b>0>%#3a+2b=12> Hab Wi KER/ M HIM= (A4 B)6 (C)8 (D)10

x>20>y=>0
) 13, fE4x+y<10 YRR - f(x,») =x+2y N AESR (A)I10 (B)12 (C)14 (D)l6
X+3y <18
3x— y+3>0 Y
) 14, TSRS ﬁ{ [ 7
(A) X (B) ¥ © 5 (D) X
0.3) 0.3) JAh03) 0.3) N\
(—1,0)/f0,1) i (-1,0) $¥(0,1) (0,1)¥9,(1,0) (=1,0) £1(0,1)
i Z I R

) 15, 2 a fll B B TR +5x—3=01FitR > Hila?+ /2= (A)19 (B)31 (C)34 (D)-16

al az a3 al bl Cl
) 16, FHIZBEIEPITHI » W—(EEL 752 [br bz b3[REHE? (A)laz; by ¢
C1 Cz C3 a3 b3 C3
a3 ap as a; az a4 a3 a; as
(B) |by —¢; by —c; bz—c3[ (C) [bz bz by (D) |byXcy byXc, bzXc
C1 Cz C3 C; €G3 C C1 Ca C3
b, b

2 33| dz a3|
— X X
by |c2 el TAX|b, by

(E)a; x ¢, Ca

) 17, & a~ b RER - 1 -2 Fyx +ax+b=019—fR » RIFHIHEIER ?

(A)E—HE —1-2 Ba=2 (Ca=-4 [D)p=-3 (Ep=5

a b ¢ a b ¢ 28, 2b, 2¢,
) 18. #la, b, ¢c|=3"1la, b, c,|=2>H] a, b, c, |=
a by c a b, ¢, a,+3a, b,+3b, c,+3c,

(A)12 (B)I8 (C)24 (D)36

) 19 ZIER S OBREAx =1~ x =2 Z8RFH 53 H018 3 ~ 50 Al fBRDL X — 3x + 2 Z 8750k
(A2x-1 (B)2x+1 (Cx (D)3x-1

) 20. AOFIE - A =R B — ~ = = Hihwy ,x, x5 00 BEED By =
ax® + bx + ¢ (a,b,c 5E&#(Ha + 0) » R FHIa]#& ERE?
(A)y#y = ax® + bx + cHJE[ZFRAEE— > Rlax® + bx + ¢ < 0N Fx = x, B x < x4

—2—



(B) #y = ax? + bx + ciEPFALR " » Hlax® + bx + ¢ < ONVER BTEEE
(C) %y = ax? + bx + ciEEZF 4R — » Hlax? + bx + ¢ = OMYfE B5x = x5
(D) #Hy = ax? + bx + ciVEFRHLR = > Hlax?® + bx + ¢ > ORYfiF Fy iz

(B) &y = ax? + bx + ciNEJEER4E= > Hlax? + bx + ¢ = OHYfE Fx = x4



